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FOREWORD

The Item analysis of the candidate’s responses on the Performance of
Candidates in the Arabic Language subject in the Advanced Certificate of
Secondary Education Examination (ACSEE) 2015 was prepared in order to
provide feedback to students, teachers, parents, policy makers and the public
in general on the performance of candidates.

The Advanced Certificate of Secondary Education Examination marks the
end of two years of A Level Secondary Education. It is a summative
evaluation which among other things shows the effectiveness of the
education system in general and the education delivery system in particular.
Essentially, candidates’ responses to the examination questions is a strong
indicator of what the education system was able or unable to offer to students
in their two years of A Level Secondary Education in the subject.

The analysis presented in this report is intended to contribute towards
understanding of some of the reasons behind the performance of candidates
in the Arabic Language subject. The report highlights some of the factors
that made candidates perform well in the questions. Such factors include the
ability to interpret the requirements of the questions, ability to express
themselves in Arabic Language and their knowledge on the principles and
rules related to the subject. However, the report also highlights some of the
factors that made few candidates fail. The feedback provided will enable the
education administrators, school managers, teachers and students to identify
proper measures to be taken in order to improve candidates™ performance in
future examinations administered by the Council.

The National Examinations Council of Tanzania will highly appreciate
comments and suggestions from teachers, students and the public in general
that can be used in improving future Examiners’” Reports.

Finally, the Council would like to thank the examiners and all who
participated in preparing and analysing the data used in this report.

A

Dr. Charles E. Msonde

EXECUTIVE SECRETARY
v



1.0

INTRODUCTION

The report analyses the performance of candidates in Arabic Language for
candidates who sat for the Advance Certificate of Secondary Education
Examination (ACSEE) 2015. The Arabic Language Examination was set
according to the 2004 syllabus and the 2012 examination format.

The performance of the candidates in Arabic Language subject was
categorized into three groups which are good, average and weak depending
on the performance of candidates who scored 30 percent or more in a given
topic. If the average percentage of performance was from 50 to 100 percent,
that performance was good. It was defined as average performance from 30
to 49 percent, while it was poor from 0 to 29 percent.

The candidates were tested in the skills of comprehension, grammar,
morphology, composition, rhetoric, response to readings, poetry and prose
and history of literature. The two papers (125/1&125/2) consisted of five
(5) sections each from which the candidates were supposed to attempt one
(1) question only from each section, with a total of nine (9) questions for
125/1 Arabic Language paper 1 and ten (10) questions for 125/2 Arabic
Language paper 2 and each question carried twenty (20) marks.

A total of 225 candidates sat for Arabic Examination in 2015, whereas
96.89 percent of the candidates passed the examination and 3.1 percent
failed the examination. In 2014, 93.86 percent passed. This shows that, the
rate of performance in the year 2015 has increased by 3.03 percent.

This report aims at providing feedback to education stakeholders on the
performance of the candidates in each question. The report highlights the
requirements of each question by indicating the expected responses to the
questions and how the candidates answered the questions. Also a sample of
responses extracted from candidates’ scripts has been attached. It is
expected that this report will enable teachers and students to improve the
teaching and learning of Arabic Language so as to improve the performance
in this subject.



2.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH
QUESTION IN 125/1 ARABIC LANGUAGE PAPER 1

2.1  Section 1: Comprehension
This section consisted of one question. The candidates were
required to attempt all parts of the question.

2.1.1 Question 1

The candidates were required to read the passage and answer
the questions given. This question was a compulsory one and
it had two parts, part (a) and (b). In part (a), the candidates
were required to give short answers to five questions given.
In part (b), the candidates were given five sentences to fill in
the blank spaces with appropriate information from the
passage. This question tested the candidates’ ability to read
and comprehend a passage.

This question was attempted by 98.2 percent of the
candidates and their performance was good as 36.2 percent
scored from 16 to 20 marks, 54.9 percent scored from 10 to
15.5 marks, 7.6 percent scored from 6 to 9 marks and only
1.3 percent scored from 2 to 5 marks out of the 20 marks
allocated to this question.

The candidates who performed well in this question provided
the correct answers and clear explanations to the given short
questions. They also filled in blank spaces with appropriate
information as required. This indicates that, the candidates
had a good mastery of Arabic Language. Extract 1.1 shows a
sample of a good response.
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Extract 1.1 shows a sample of a good response from a script of
a candidate who provided correct answers to the given short
questions and filled in blank spaces with appropriate
information from the passage.



The candidates who performed poorly in this question failed
to answer the items from Part (a), although most of the
answers could be found from the passage. The item which
was not answered well by candidates was item a - (4) which
asked “What did the person use to kill the two burglars?”
Most of them answered the question as follows "The person
Killed the two burglars in order to save his own life" instead
of “The person killed the two burglars with a pistol.” This
proves that, the candidates lacked sufficient knowledge and
vocabulary in Arabic Language. Extract 1.2 shows a sample
of a poor response.

Extract 1.2
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Extract 1.2 shows a sample of a poor response from a script of a
candidate who provided incorrect answers to the given short
guestions due to poor mastery of Arabic Language.



2.2

Section 2: Grammar
This section had two questions which were question 2 and 3. The
candidates were required to attempt only one question.

2.2.1

Question 2

This question had two main parts (a) and (b). In part (a), the
candidates were required to analyse the underlined
grammatical items such as subject, phrase, predicative,
adverb, adjectives, verbs, conjunctions and prepositions. In
part (b), they were required to fix appropriate subjects of the
given predicates and make changes after entering any one of
the defective verbs (/s[5 o). The question aimed at
testing the candidates’ ability to analyse Arabic grammar in
the given sentences and use the defective verbs with nominal
sentences.

The question was attempted by 70.6 percent of the
candidates, of which 5 percent scored from 16 to 19 marks,
23 percent scored from 10 to 15.5 marks, 34.1 percent scored
from 6 to 9.5 marks, 35.4 percent scored from 1 to 5 marks
and only 2.5 percent scored from 0 to 0.5 mark. It is an
indication that the performance in this question was good.

The candidates who attempted part (a), performed well.
These candidates managed to analyse and provide sufficient
explanations to the underlined grammatical items such as
subjects, predicative, adverbs, adjectives, verbs, phrases,
conjunctions and prepositions as required. For example, the
candidates analysed grammatical item (5) as follows “the
phrase in the accusative case and its case-sign bears a letter
(s which always stands on behalf of case-sign (4sidf)
because of being a sound plural”. ( Lodley cipais Ja :pma 4o
alledd) Siall gan 4 daidll ge Ll gLl 4ua). This indicates that
the candidates had enough knowledge on Inflection. Extract
2.1 shows a sample of a good response.
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Extract 2.1 shows a sample of a good response from a script of
a candidate who analysed demonstrative pronouns, nouns,
pronouns and verbs well.

However, some of the candidates did not perform well in
this question because they provided incorrect answers.
Others wrote the answers which were not related to the
question. For example, some candidates analysed item a-(3)
as objective instead of subject of the passive as follows “the
object in the accusative case and its case-sign bears a letter
(s&!) which always stands on behalf of case-sign (4aid)
because of being a sound plural”. ( es<io 4 Jseda : i salall
Alld) jSial) gan 40 daddl) e Ll sldf 4uai 1ade g) that was
wrong. The correct answer was supposed to be “the subject
of passive in the nominative case and its case-sign bears a
letter (#/+/) which always stands on behalf of case-sign
(Leaf) because of being a sound plural”. ( Jeldll euild ;5 sérlalt
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Alld] jSiall gan 4 dadal) 6 Lbui glsl) 428y Lade g £ 59449, This
indicates that, the candidates had insufficient knowledge on
Inflection («L<¥/). Extract 2.2 shows a sample of a poor
response.

Extract 2.2
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Extract 2.2 shows a sample of a poor response from a script of
a candidate who analysed all the grammatical items wrongly
due to lack of knowledge on Arabic grammar.




In Part (b), the candidates were required to construct
sentences in grammatical order by fixing the subjects to the
given predicates and then they were required to change the
sentences after putting one of defective verbs (&si/s o9 in
the sentence. In this part, there were few candidates who
managed to put appropriate words for each sentence and
made changes as required. These candidates had a good
command of Arabic Language. Extract 2.3 shows a sample
of a good response.

Extract 2.3
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Extract 2.3 shows a sample of a good response from a script of
a candidate who fixed subjects to the given predicates and made
changes as expected.

The candidates who did not perform well in this part failed
to construct sentences in grammatical order by fixing the
subjects to the given predicates as well as making changes
after using defective verbs from (&s3/s &9, Most of them
used the defective verbs before fixing the subjects with
predicates as well as using them without making any
changes. This proves that these candidates had insufficient
knowledge on uses of defective verbs. Extract 2.4 shows a
sample of a poor response.
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Extract 2.4 shows a sample of a poor response from a script of
a candidate who used the defective verbs before fixing the
subjects with predicates in item (1-3), thus scoring low marks.

2.2.2 Question 3

This question had two main parts (a) and (b). In part (a), the
candidates were required to give an explanation of the
underlined grammatical items such as objective, subject,
predicate, adverb and verbs. While in part (b), the candidates
were required to fix appropriate predicates with the given
subjects and change the sentences by putting any item of ( &/
5309,

This question was attempted by 27.2 percent of the
candidates, of which 16.1 percent scored from 10 to 19
marks, 40.4 percent scored from 6 to 9.5 marks whereby
43.5 percent scored from 0 to 5.5 marks out of the 20 marks
allocated to this question. It is an indication that the
performance in this question was good.

The candidates who performed well in this question
understood the demands of the question and were able to
identify the underlined grammatical items such as objective,
subject, predicate, adverb and verbs as required. For example

one candidate identified the subject in item (2) as follows
10



“the subject of passive in the nominative case and its case-
sign bears a vowel (Ledl).” ( 42, Ladle g £ 44 10 Joldl) cuill :tuaa
5 bl 4asl), They also managed to take into consideration
on the changes which occur after using any item of ( &/
ilsif9. This indicates that the candidates had sufficient
knowledge on this topic of (&/s3/s 7). Extract 3.1 shows a
sample of a good response.

Extract 3.1
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Extract 3. 1 shows a sample of a good response from a script of
a candidate who identified and gave an explanation of the
underlined grammatical items as required.

However, there were some candidates who failed to score
high marks in this question. In part (a), most of them
managed to identify the underlined grammatical items but
they were unable to give adequate explanations of the
identified grammatical items as required. Some of them
provided irrelevant answers. For example, some candidates
analysed the word (4«<) in item 2 as past tense instead of the
subject of the passive. Others did not write anything. In part
(b), some candidates were able to put the items of ( &/
l¢is3/9) in the sentences but they did not consider the rules
which are needed to change words after putting those items
of (5[5 o). For instance, in the following sentence from
item b-(5) (gwls oliad Jo) which was wrong the candidate
provided a predicate which was in a singular form instead of
dual form and subjective should had been changed after
adding the word (Js) into accusative case instead of
nominative case. This sentence was supposed to be as
follows (cliewly opiiadl Je) which means “may be two
gardens are large”. This shows that candidates did not have
enough knowledge on this topic of (&/ss(s ). Extract 3.2
shows a sample of a poor response.

12



2.3

Section 3: Grammar
This section had two questions (question 4 and 5). The candidates

Extract 3.2
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Extract 3.2 shows a sample of a response from a script of a
candidate who failed to use transforming rules after using the

items of (4s</s ) without making any changes.

were required to attempt only one question.

231

Question 4

This question had two main parts (a) and (b). In part (a), the
candidates were required to give definitions on grammatical
terms such as noun in the vocative, object as well as to
explain when it would be necessary or unnecessary to put a
verb in the feminine form. In part (b), the candidates were

13




required to rearrange jumbled words in a logical sequence to
make a meaningful sentence.

This question was attempted by 12.7 percent of the
candidates. The performance in this question was good as 31
percent scored from 10 to 16 marks, 20.7 percent scored
from 6 to 9 marks and 48.3 percent scored from 2 to 5 marks
out of the 20 marks allocated to this question.

The candidates who scored high marks understood the
requirements of the question and were able to define
grammatical terms such as noun in the vocative and object.
They also managed to rearrange jumbled words in a logical
sequence to make a meaningful sentence as required.
However, most of them were unable to explain when it
would be necessary or unnecessary to put a verb in the
feminine form due to lack of enough knowledge on the
feminine. Extract 4.1 shows a sample of a good response.

Extract 4.1
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Extract 4.1 shows a sample of a response from a script of a
candidate who defined some grammatical terms such as noun in
the vocative as required.

However, some of the candidates who performed poorly in
this question, failed to define grammatical terms such as
noun in the vocative and object. Furthermore, they were
unable to rearrange jumbled words in a logical sequence to
make meaningful sentences. Other candidates did not
understand the requirements of some questions due to poor
command of Arabic Language. For example, the question
required the candidates to give the meaning of object. One




candidate explained the meaning of subject instead. Extract
4.2 shows a sample of a poor response.

Extract 4.2

Lt el
(A) 'l
d' r—

Extract 4.2 shows a sample of a poor response from a script of
a candidate who provided the meaning of subject instead of
object, thus scoring low marks.

2.3.2 Question 5
This question had two main parts (a) and (b). In part (a), the
candidates were required to define and analyse some given
grammatical terms of Arabic Language provided in the
question. While in part (b), the candidates were required to
rearrange jumbled words in a logical sequence to make
meaningful sentences.

The question was attempted by 86.4 percent of the
candidates and their performance was good as 51.8 percent
of them scored from 10 to 18 marks, 33 percent scored from
6 to 9.5 marks and only 15.2 percent scored from 1 to 5.5
marks out of the 20 marks allocated to this question.
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The candidates who did well in this question understood the
requirements of the question and managed to both define and
analyse some grammatical terms as required. They were also
able to identify and use the cohesive devices in re-arranging
the five jumbled words into a logical sequence appropriately
to make a meaningful sentence. This shows that the
candidates had sufficient knowledge and vocabulary in
Arabic Language. Extract 5.1 shows a sample of a good
response.

Extract 5.1
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Extract 5.1 shows a sample of a good response from a script of
a candidate who explained the given grammatical terms as
required, thus scoring high marks.
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The candidates who got low marks in this question provided
incorrect answers. Some of them copied some words from
the examination paper and put them as their answers, others
wrote irrelevant definitions of grammatical terminologies of
Arabic Language. For example, one candidate wrote the
definition of uninflected (/) as follows “uninflected is a
word which makes nominative case and subjunctive case”.
(dadll Jao (A cuals g #d dalSl s : -ial) instead of saying
“uninflected is a word which remains unchanged in case of
Inflection”. ( e A sy Ua Lo o &) b Lo g8 Asall
<840, This indicates that they had poor mastery of Arabic
Language. Extract 5.2 shows a sample of a poor response.

Extract 5.2
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Extract 5.2 shows a sample of a poor response from a script of a

candidate who gave wrong definitions of the given grammatical
terminologies.
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24

Section 4: Morphology
This section consisted of two questions. The candidates were
required to attempt only one question.

24.1

Question 6

This question had two main parts (a) and (b). In part (a), the
candidates were required to give the meaning of some
grammatical items related to morphology such as gerund
and morphology. In part (b), the candidates were required to
change the given words in the question to their original root
words by removing additional letters to those words.

This question was attempted by 72.4 percent of the
candidates out of which 26.1 percent scored from 16 to 19
marks, 54.5 percent scored from 10 to 15.5 marks, 10.3
percent scored from 6 to 9.5 marks and only 9.1 percent
scored from 0 to 5.5 marks out of the 20 marks allocated to
this question. This indicates that the performance in this
question was good.

The candidates who performed well in this question were
able to give correct definitions of the given grammatical
items related to morphology like gerund or morphology and
removed additional letters to the verbs so as to leave them in
their base roots as required. For example, one candidate
wrote the meaning of morphology as follows “morphology is
known as a study of the forms of words, in particular
inflected forms before being the meaningful sentences”. ( x
Uaal) of Sl (5 lgallili] S dalSl) Luls LS s ity (540 alel),
This indicates that the candidates had sufficient knowledge
on morphology. Extract 6.1 shows a sample of a good
response.
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Extract 6.1
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Extract 6.1 shows a sample of a good response from a script of
a candidate who defined the meaning of gerund and removed
additional letters to the verbs as required.

On the other hand, the candidates who scored low marks in
this question were unable to define grammatical items
related to morphology as required. Some of them provided
unclear definitions. For example, one candidate Wrote the
definition of morphology. ( 4 ithiis Jd 4 44

4laa)) which was unclear while it was supposed to be (aded 50
Uarl) o oSl 5 bgallili] S dalSl] Lol LidsS 4y i jzy (o),
Others did not understand the requirements of the question.

For example in part (b), some of the candidates made active
20



participle or present tense instead of removing additional
letters on the verbs like this (ais -adiy z_maie - #_a) which
were wrong. These verbs were supposed to be ( g - gadi
At 23879 Extract 6.2 shows a sample of a poor response.

Extract 6.2
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Extract 6.2 shows a sample of a poor response from a script of a
candidate who turned verbs into active participle instead of
removing additional letters to the verbs due to misunderstanding
of the question.

2.4.2 Question 7
This question had two main parts. In part (a), the candidates
were required to change the given gerunds into infinitive and
mention morphology scholars (founders) as well as the
advantages of morphology. In part (b), the candidates were
required to make a gerund from the given verbs and measure
the original letters of the given words.

This question was attempted by 26.3 percent of the
candidates, of which 25 percent scored from 13.5 to 19
marks, 28.3 percent scored from 10 to 13 marks, 26.7
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percent scored from 6.5 to 9.5 marks and only 20 percent
scored from 1.5 to 5.5 marks out of the 20 marks allocated to
this question. This indicates that the performance in this
question was good.

The candidates who scored high marks in this question were
able to change the given gerunds into infinitive, mention
morphology scholars (founders) and wrote the advantages of
morphology. They also made a gerund from the given verbs
and measured the original letters of the given words as
required. This indicates that the candidates had enough
knowledge on morphology. Extract 7.1 shows a sample of a
good response.

Extract 7.1
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Extract 7.1 shows a sample of a good response from a script of
a candidate who changed the given gerunds into infinitive in
item a-(1) as required.

However, there were some candidates who scored low marks
in this question. These candidates failed to change the given
gerunds into infinitive, mention morphology scholars
(founders) and could not write the advantages of
morphology. Some of them provided their responses which
were not related to the demands of the question. For
example, in part (b), some candidates measured the original
letters of the words instead of changing the given gerunds
into infinitives in item (1) due to misunderstanding of the
requirements of the question. Extract 7.2 shows a sample of
a poor response.
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Extract 7.2
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Extract 7.2 shows a sample of a response from a script of a
candidate who measured the original letters of the given words
wrongly, thus scoring low marks.
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2.5

Section 5: Composition (Article and Letter writing)
This section consisted of two questions (question 8 and 9). The
candidates were required to attempt only one question.

2.5.1

Question 8

This question required the candidates to write a family letter
to their father informing him on the visit after examination
period.

The question was attempted by 96.1 percent of the
candidates and their performance was good as 35.6 percent
of them scored from 6 to 9 marks and 64.4 percent scored
from 10 to 17 marks out of the 20 marks allocated to this
question.

All the candidates who attempted this question performed
well. They managed to write a family letter to their father
telling him about the visit as required. They also adhered to
the format of letter writing according to Arabic Language.
Furthermore, their points were well elaborated. This shows
that the candidates had sufficient knowledge on letter writing
skills and they had a good mastery of Arabic Language.
Extract 8.1 shows a sample of a good response.
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Extract 8.1
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Extract 8.1 represents a sample of a good response from a script
of a candidate who adhered to the format of letter writing and
also wrote points which were well elaborated, thus scoring high
marks.

27




However, there were few candidates who had average
performance in this question. These were able to write the
address, date and greetings of the letter. They did not have
ability to describe the main concept of the letter that is, to
write to their father telling him about the visit. They instead
wrote sentences which were not related to the demands of
the question. Some of them just copied some words from the
question and put them in the body of the letter as their
answers. This indicates that the candidates did not have
enough vocabulary and had no good command of Arabic
Language. Extract 8.2 shows a sample of response from a
candidate with average performance.

Extract 8.2
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Extract 8.2 shows a sample of a response from a script of a
candidate who wrote only the address, date and greetings of the
letter.
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2.5.2 Question 9
The candidates were required to write an article on the
importance of cleanliness in the community.

This question was attempted by only 1.8 percent of the
candidates. This is among the question which was omitted by
most of the candidates. However, the performance in this
question was good as 75 percent scored from 11 to 15 marks
and 25 percent scored 8 marks out of the 20 marks allocated
to this question.

The candidates who did well in this question understood the
demands of the question. Some of them expressed their ideas
with a good flow and their responses were well organised
and clear. Other candidates lacked sufficient vocabulary.
This weakness led them to express their ideas inadequately
and their responses had a lot of grammatical errors and
wrong spellings. This indicates that the candidates had
sufficient knowledge on the importance of cleanliness in the
community. Extract 9.1 shows a sample of a good response.
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Extract 9.1
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Extract 9.1 shows a sample of a response from a script of a
candidate who explained the "Importance of cleanliness in the

community” and organised his/her points well and so scored
high marks.
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3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH
QUESTION 1IN 125/2 ARABIC LANGUAGE PAPER 2

3.1

Section 1: Rhetoric
This section had two questions which were question 1 and 2. The
candidates were required to attempt only one question.

3.1.1 Question 1
This question had ten sub-questions whereby the candidates
were required to identify types of antonomasia “<L<?” from
the given sentences.

This question was attempted by 11.8 percent of the
candidates. The performance in this question was poor as
70.4 percent scored from 0 to 5 marks and only 29.6 percent
scored from 6 to 8 marks out of the 20 marks allocated to
this question.

Most of the candidates who performed poorly in this
guestion were unable to differentiate between adjective
antonomasia " déall oe 4L and substantive antonomasia
“Cdpagall oe LUL” among three types of antonomasia
“4LUgr hence, they answered the question wrongly. Other
candidates did not write anything. However, there were few
candidates who managed to identify types of antonomasia
“ 4L from some items of the question particularly in item
(1, 2 and 6). This proves that the candidates had insufficient
knowledge on antonomasia “4U<”. Extract 1.1 shows a
sample of a poor response.

31



Extract 1.1
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Extract 1.1 shows a sample of a response from a script of a
candidate who failed to identify three types of antonomasia
“4Lshr and could not explain its purpose.
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3.1.2 Question 2
This question had ten items and required the candidates to
define the meaning of antonomasia ‘4L<H’ as well as
rhetoric terminologies, mention the types of antonomasia

“LLstt from the given sentence as well as types of metaphor
“b_leiuy),

This question was attempted by 86.4 percent of the
candidates, of which 6.1 percent scored from 16 to 19.5
marks, 43.6 percent scored from 10 to 15.5 marks, 32.5
percent scored from 6 to 9.5 marks and only 17.8 percent
scored from 0 to 5.5 marks out of the 20 marks allocated to
this question. It is an indication that the performance in this
question was good.

The candidates who got high marks in this question were
able to explain the meaning of antonomasia ‘<L<f and
rhetoric terminologies, mentioned types of antonomasia
‘4L from the given sentence as well as mentioned types

of metaphor “éldiwyl as required. Extract 2.1 shows a
sample of a good response.

Extract 2.1
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Extract 2.1 shows a sample of a good response from a script of
a candidate who defined rhetoric terminologies and mentioned
types of antonomasia ‘4L’ as well as metaphor “4_leiud”” as
required.
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On the other hand, the candidates who got low marks failed
to mention the types of antonomasia ‘<L’ from the given
sentence, could not give the meaning of antonomasia * &L/
or rhetoric terminologies and failed to mention types of
antonomasia ‘4US” or metaphor “4leiny”. Some of these
candidates were confused with the definition of the art of
figures of speech (g ak) and the art of contents ( af
~tzal). This led them to make exchanges among those two
definitions. Other candidates did not write anything and few
of them just copied some words from the questions and
wrote them as their answers. This shows that the candidates
did not have enough knowledge on rhetoric. Extract 2.2
shows a sample of a poor response.

Extract 2.2
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Extract 2.2 shows a sample of a response from a script of a
candidate who just copied sentences from the question and
wrote them as his/her answer due to lack of knowledge on
rhetoric (434 and antonomasia * U< .
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3.2

Section 2: Literature
This section had two questions which were question 3 and 4. The
candidates were required to attempt only one question.

3.2.1

Question 3

This question had two main parts (a) and (b). In part (a), the
candidates were asked to complete a poem with appropriate
information in the blank spaces, while in part (b), the
candidates were required to mention the name of the narrator
in relation to the given poem as well as his book of poems,
they were also required to explain setting of the poem and
finally to write verses of the poem which support the narrator
that he was creative and insolent.

This question was attempted by 21.1 percent of the
candidates. The performance in this question was good as
41.7 percent scored from 10 to 17 marks, while 33.3 percent
scored from 6 to 9 marks and only 25 percent scored from 0
to 5 marks out of the 20 marks allocated to this question.

The candidates who attempted this question, performed well
in part (a). They were able to write verses of poetry correctly
as required, although their responses had spelling mistakes.
In part (b), all the candidates failed to write verses of the
poem which support the narrator that he was creative and
insolent in item b-(3) and (4) respectively due to lack of
knowledge on poetry. Extract 3.1 shows a sample of a
response with average performance.
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Extract 3.1
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Extract 3.1 shows a sample of a response from a script of a
candidate who provided correct answers except in items 3 and 4
which were answered wrongly.

However, most of the candidates who performed poorly in
this question could not write correct verses of poetry, some
of them wrote half of the verses and others wrote nothing
due to lack of knowledge on poetry writing, thus scoring low
marks. Extract 3.2 shows a sample of a response with low
marks.
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Extract 3.2
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Extract 3.2 shows a sample of a response from a script of a
candidate who wrote wrong verses of poetry due to lack of

knowledge on poetry.
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3.2.2 Question 4
This question had two main parts (a) and (b). In each part,
the candidates were required to write five verses of poem
from the given verses.

This question was attempted by 75.4 percent of the
candidates and their performance was good as 58.7 percent
scored from 16 to 20 marks, 27.9 percent scored from 10 to
15.5 marks, 5.8 percent scored from 8 to 9.5 marks and only
7.6 percent scored from 0 to 5.5 marks out of the 20 marks
allocated to this question.

Most of the candidates who attempted this question,
performed well. These candidates were able to write five
verses of a poem from the given verses as was required. This
proves that the candidates had mastered the writing skills of
the poems well. Extract 4.1 shows a sample of a good
response.

Extract 4.1
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Extract 4.1 shows a sample of a good response from a script of
a candidate who wrote verses of poetry correctly, thus scoring
high marks in this question.

However, there were few candidates who performed poorly
in this question. Most of them wrote verses of poetry which
were not related to the requirements of the question. Others
did not write anything due to lack of knowledge on poetry.
Extract 4.2 shows a sample of a response with low scores.
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Extract 4.2
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Extract 4.2 shows a sample of a response from a script of a
candidate who wrote verses of poetry in part (a) contrary to the
requirements of the question thus scoring low marks in this
question.
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3.3

Section 3: Literature
This section consisted of two questions which were question 5 and
6. The candidates were required to opt for only one question.

3.3.1 Question 5
This question had ten items and required the candidates to
describe Arabic literature terminologies given as well as five
Arab literature periods.

This question was attempted by 92.1 percent of the
candidates. The performance in this question was good as
2.4 percent scored from 16 to 18 marks, 39 percent scored
from 10 to 15 marks, 27.2 percent scored from 6 to 9.5
marks and only 31.4 percent scored from 0 to 5.5 marks out
of the 20 marks allocated to this question.

The candidates who did well in this question understood the
requirements of the question and managed to mention five
Arab literature periods as divided by Arabic literature
scholars. They also provided the correct definition of
literature terminologies given except items 7 and 8 where
most of them failed to give the meaning of literature text
(4wa¥) pasall) and criticism (o=-¥ 42) respectively. This
proves that candidates had sufficient knowledge on Arabic
literature. Extract 8.1 shows a sample of a good response.
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Extract 5.1
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Extract 5.1 indicates a sample of a responses from a script of a
candidate who answered the given literature terminologies as

required.

The candidates who got low marks in this question were
unable to provide the correct definitions of literature
terminologies given as well as to mention five Arab
literature periods as divided by Arabic literature scholars.
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Some of the candidates wrote the definition of literature
terminologies of Arabic Language wrongly like this ( <%/
AN (OBY Jis g padaal) A G ge D] Gludy) adei s sl
4 dualy b JS 4 4lers Glwi¥) which was wrong. The
correct answer was supposed to be ( 2 s sadbal rcnd)
il B j3gall fulill Jaad) “Ljterature is aesthetical words and
well-spoken which always affect in the psyche of human
being. Few of them did not write anything. This indicates
that these candidates had insufficient knowledge on
literature. Extract 5.2 shows a sample of a response with low
marks.

Extract 5.2
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Extract 5.2 shows a sample of a response from a script of a
candidate who lacked knowledge on literature terminologies.
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3.3.2 Question 6
This question comprised of two main parts (a) and (b). In
part (a), the candidates were required to give the meaning of
the given literature vocabularies, while in part (b), the
candidates were asked to explain and analyse the “quotation”
from one of the literary works.

The question was attempted by 4.4 percent of the candidates
and their performance was average as 70 percent of them
scored from 6 to 13 marks and only 30 percent scored 5
marks out of the 20 marks allocated to this question.

Most of the candidates who performed fairly well in this
question, were able to give the meaning of the given
literature vocabulary in part (a), while in part (b), most of
them failed to answer this part due to lack of knowledge on
literature. The candidates, who answered this part, did not
have the ability to provide adequate explanations and their
responses had a lot of grammatical errors and spelling
mistakes. This shows that these candidates had lacked
sufficient knowledge on the literary works. Extract 6.1
shows a sample of such a response.
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Extract 6.1
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Extract 6.1 shows a sample of a response from a script of a
candidate who had inadequate explanations in explaining and

analysing the “quotation” from one of the literary works.

On the other hand, the candidates who performed poorly in
this question were unable to give the meaning of the given
literature vocabulary and could not analyse the “quotation”
from one of the literary works but most of them were able to
give the meaning of some literature vocabularies such as
“clean, land of Mecca” (slakd/ &) in part (a), while in
part (b), most of them did not write anything although there
were few candidates who tried to answer in this part but their
responses were not clear and were incorrect due to lack of
enough vocabulary. Extract 6.2 shows a sample of a

response with low marks.
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Extract 6.2
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Extract 6.2 shows a response from a script of a candidate who
only managed to give the meaning of the words “clean and land

of Mecca” in part (a) as a result scored low marks.

3.4 Section 4: Literature (Poetry and Prose)
This section had two questions which were question 7 and 8 and the
candidates were asked to opt for only one question.

3.4.1 Question 7
This question required the candidates to write an essay on
the concept obtained from a given poem in part (a), while in
part (b), the candidates were required to explain in brief the
biography of poetry of the given poem and in which
occasion that poem was recited.

The question was attempted by 11.8 percent of the
candidates and their performance was average as 40.7
percent scored from 6 to 13 marks and 59.3 percent scored
from 0 to 5 marks out of the 20 marks allocated to this
question.
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Most of the candidates who performed fairly well in this
question managed to explain the concept obtained from the
given poem and wrote in brief the biography of poetry of the
given poem as required. These candidates organised their
points well and in a good flow but their explanations were
inadequate and had a lot of spelling mistakes. This proves
that, the candidates lacked vocabulary on Arabic Language.
Extract 7.1 shows a sample of a response with average
performance.

Extract 7.1
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Extract 7.1 shows a sample of a response from a script of a
candidate who organised his/her points well and logically
although there were some spelling mistakes.

The candidates who scored low marks in this question did
not give the explanations on the concept obtained from the
given poem and could not express themselves in brief on the
biography of poetry of a given poem as required. Most of
them provided the explanations which were not related to the
demands of the question. Others did not write anything.
They just copied some sentences from question as the
following sentences ( atlice udill cdypd 38 O Jaad] o £ pall
RIY Y9 oetl Y9 <dS Y 4biU) and put them as their answers.
This indicates that these candidates did not have enough
vocabulary on Arabic Language. Extract 7.2 shows a sample
of a response with low marks.
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Extract 7.2
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Extract 7.2 shows a sample of a response from a script of a
candidate who misinterpreted the poem and just copied some
sentences from question 6-(b) and put them as his/her answers.
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3.4.2 Question 8
This question had two main parts (a) and (b). In all parts the
candidates were required to explain in depth the meaning of
the given poem and write briefly on the narrator in relation
to the given poem.

This question was attempted by 85.1 percent of the
candidates. The performance in this question was good as
9.8 percent scored from 16 to 20 marks, 47.9 percent scored
from 10 to 15 marks, 23.2 percent scored from 6 to 9 marks
and only 19.1 percent scored from 0 to 5.5 marks out of the
20 marks allocated to this question.

The candidates who performed well understood the
requirements of the question and were able to explain the
meaning of the given poem. Furthermore, they were able to
explain in brief the remarks on the narrator in relation to the
given poem as required. This proves that the candidates had
a good mastery of Arabic Language. Extract 8.1 shows a
sample of a good response.

Extract 8.1
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Extract 8.1 shows a sample of a response from a script of a
candidate who explained the meaning of the given poem and
wrote in brief the remarks on the narrator in relation to the

given poem.

However, there were few candidates who performed poorly
in this question. These candidates failed to explain the
meaning of the given poem and also failed to write briefly
on the narrator in relation to the given poem. Some of them
provided their answers with inadequate explanations. Others
wrote answers which were not related to the demands of the
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question, for example in part (a), question 4 asked the
candidates “why the poet was named () aaia 1 £L&)?” one
candidates answered “because of being new rules of making
poems” instead of “because he lived both in the Islamic era
and pre-Islamic era” (¥ JAalal) s pwae A& Gile 43 ) and
few of them did not write anything. This indicates that, the
candidates had insufficient knowledge on poetry. Extract 8.2
shows a sample of a poor response.

Extract 8.2
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Extract 8.2 shows a sample of a response from a script of a

candidate who did not write his/her answer in item a- (2) and
also failed to provide correct answers in the remaining items.
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3.5

Section 5: Literature (Response to Readings)
This section had two questions which were question 9 and 10. The
candidates were required to attempt only one question.

3.5.1

Question 9

The candidates were required to write a summary on how
Sindbad and Hindbad became brothers and the lesson the
society learnt from the story.

This question was attempted by 6.1 percent of the candidates
and their performance was good as 50 percent scored from
11 to 17 marks, 35.7 percent scored from 7 to 9 marks and
only 14.3 percent scored from 1 to 4.5 marks out of the 20
marks allocated to this question.

Most of the candidates, who performed well in this question,
understood the demands of the question and had sufficient
knowledge as well as enough vocabulary in expressing
themselves. These candidates were able to provide good
explanations on how Sindbad and Hindbad became brothers.
For example, one candidate wrote as follows "when Sindbad
was abused by Hindbad because he was not given enough
wealth. He was taken to Sindbad's place by the bodyguards.
Sindbad gave him food and told him how he got his wealth.
From that day, they became friends. " ( ¢ Y8 Saicd) gaw
2l felic of 2 o 9 aaig 98 (a bdiaad) aady Gy 3Ll Slaigl)
slas | g e liall (e odis La AL dalal alyaigl) ) g puany ¢ dadd aLaid)
dady gle L Bl of aul oSl s eda QAT o )0 ¥ U SUB aladal)
dm\gula‘g)uuiw&huuaﬁu\ggiﬁﬂm\gléieg\SJAQA#AB
o M) and they also explained the lesson the society
learnt from the story by arranging and elaborating their
points clearly like the following lesson "The rich men should
help poor people” (1Al Ao Igelay o sLiEY Ao )

although, there were some grammatical errors and spelling
mistakes. For example, the following sentence ( (2 Jas ¥ Jusll
aaiaall), The correct answer was supposed to be as follows
(aadiaall 2 3929 ¥ Jusll), This shows that the candidates had
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enough knowledge on history of Sindbad and Hindbad.
Extract 9.1 shows a sample of a good response.

Extract 9.1
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Extract 9.1 shows a sample of a good response from a script of

a candidate who wrote a good summary on the brotherhood of
Sindbad and Hindbad and also provided lessons the society

learnt from the given story.

However, there were some candidates who performed poorly
in this question. These candidates were not able to explain
how Sindbad and Hindbad became brothers and what the
lesson the society learnt from the story. Most of the
candidates managed to write only an introduction. Some of
them failed to arrange and elaborate their points clearly and
their explanations contained a lot of grammatical errors with
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wrong spellings which led to misconception on what was
written. This indicates that, the candidates did not have
enough knowledge on the given story. Extract 9.2 shows a
sample of a poor response.

Extract 9.2
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Extract 9.2 shows a sample of a response from a script of a
candidate who had a good introduction but failed to explain on
how Sindbad and Hindbad became brothers and could not write
the lesson the society learnt from the story.
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3.5.1 Question 10
The candidates were required to explain how Hassan stole
the money (Dinar) from his friend Ali Koja and replaced it
with new grapes and what the society learnt from the story.

This question was attempted by 92.1 percent of the
candidates out of which 3.3 percent scored from 16 to 19
marks, 39.6 percent scored from 10 to 15.5 marks, 37.1
percent scored from 6 to 9.5 marks and only 20 percent
scored from 0 to 5.5 marks out of the 20 marks allocated to
this question. It is an indication that the performance in this
question was good.

The candidates who performed well in this question,
understood the requirements of the question and had enough
knowledge on the story of Ali Koja. These candidates
explained that Hassan stole the money (Dinar) from his
friend Ali Koja and replaced it with new grapes and wrote on
what the society learnt from the story as required. For
example, some candidates wrote some of the lessons learnt
as follows "the women’s stand not to take part in the offense
even if their husbands wanted them to do so like Hassan’s
wife who refused to join together with Hassan to steal the
money and warned her husband not to steal the money
(Dinar) from his friend Ali Koja. ( 4 4wl 68 (o Hdicw Lo
ALl ud g gj cpds s jali da g o i Con padaall 5 5/ sal)
Lisd 4in g j (a paw Lo s 0519), another lesson is that "leaders
should make a habit of visitng the citizens to see how they
are living in the same way that Haruna Rashid used to visit
his people at night so as to know their condition." ( &= & ¥
Ldy Galb IS LaS agiibl g S ga (5800 (oS a0 (2D Of gy )
) Jigs) st o0 gy M o pad 9 £ K9, Moreover, they
were able to elaborate and organise their points in a good
flow although there were some grammatical mistakes and
spelling mistakes. For example, one candidate wrote the
following sentence which had grammatical mistakes and
spelling errors ( cuwis S5m0l A Lala p O Gswd ) OF 4 Y
crib gl JIga)). The correct sentence was supposed to be ( & ¥s
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agiiblga Jgal [sas S ad [l of slugd 9. This
indicates that, the candidates had enough knowledge on the
story given and had a good command of Arabic Language.
Extract 10.1 shows a sample of a good response.

Extract 10.1
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Extract 10.1 shows a sample of a response from a script of a
candidate who followed the rules of essay writing, although
there were some grammatical errors and spelling mistakes.
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The candidates who scored low marks were not able to explain
how Hassan stole the money (Dinar) from his friend Ali
Koja and replaced it with new grapes and could not write the
message learnt from the story. Furthermore, their answers
were not clear and contained a lot of grammatical errors.
Some of them copied some words from the questions and
wrote them as their answers due to insufficient knowledge
on the given story. Extract 10.2 shows a sample of a
response with low marks.

Extract 10.2
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Extract 10.2 shows a sample of a response from a script of a
candidate who just copied some words from the question and
wrote them as his/her answer contrary to the requirements of the
question.
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4.0

5.0

6.0

ANALYSIS OF CANDIDATES' PERFORMANCE PER TOPIC

The Item analysis of candidates' performance in each topic as seen in the
Appendix shows that candidates had a good performance in Composition,
Comprehension, Response to Readings, History of literature, Rhetoric,
Grammar, Poem and prose and Morphology whereby 100 percent, 82.85
percent, 82.6, 79.35, 76.3, 72.05, 69.5 and 67.1 percent respectively scored
an average of 30 percent and/or above. Meanwhile, the rate of performance
of Rhetoric and Poem & prose in the year 2015 has increased by 30.5 and
46 percent respectively compared to the year 2014. This good performance
could be attributed to the candidates’ wide knowledge of the topics from
which the questions were derived and their ability to understand the
demands of the questions.

CONCLUSION

The general performance of the candidates in Arabic Language subject, in
the ACSEE 2015 was good. This good performance was attributed to the
candidates' ability to identify the task of the questions, interpret the
requirements of the questions and sufficient knowledge and skills on
concepts related to the subject.

The summary of the analysis of performance has been coloured whereby
Green colour stands for good performance, Yellow colour for average
performance and Red colour for poor performance. In this analysis, the
performance is represented by one color only; green as shown in the
Appendix.

RECOMMENDATIONS

In order to improve the prospective candidates' performance in this subject,
the following are recommended:

@ Teachers should guide the students to answer the questions on essay
writing by giving them enough exercises which will enable them to
get enough vocabularies.

(b) Students should put more efforts on rhetoric and morphology in
order to improve their standard which will enable them to perform
well.
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(©)

(d)

Teachers should help the students on how to identify the specific
tasks of the question by reading the examination questions carefully
before answering in order to give good and correct answers.

Teachers should encourage the students to revise all topics across
the current syllabus during preparations for examinations.
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Appendix
Comparison of Summary of Candidates’ Performance in Each Topic

S/N | Topic Total 2014 2015

number The Remarks The Remarks

of percentage percentage

questions of of

candidates candidates

who who scored

scored 30 30 marks

marks and/or

and/or above

above
1. | Comprehensi 1 94.5 Good 82.6 Good
on
2. Response to 2 88.1 Good 82.85 Good
readings
3. History of 4 85.47 Good 79.35 Good
literature

5. Compositon 1 76.9 Good 100 Good
6. Grammar 4 53.27 Good 72.05 Good
7. Morphology 2 51.6 Good 67.1 Good
8. Rhetoric 2 46.25 Average 76.3 Good
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